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ABC is a triangle. The internal bisector of the angle A meets the
circumcircle again at P. Q and R are similarly defined.

Prove thntAPOBQOCR>ABOBC+cA.

The sequence pl R pl s +v. is defined as follows -

P, = 2, and for n3 2, Py is the largest prime divisor of

N +1 .
P. P, P’ Pn-1

Prove that 5 is not a member of this sequence.

Find the largest positive integer n for which the equation
ax + (atl)y + (a+2)z = n

is not solvable in positive integers x,y,z, where a fs a given odd
positive integer.

l’l (x‘,y| ), P’ (x', y’) are two points on that part of the curve xn-nyn- b

for which x > 0, y > O, Here a and b are positive constants and n an integer > 1.
Prove that if y, < v, and A is the area of triangle OPyP, , then

-1
by, > 2ny‘l‘ a DA .

Given that k is a fixed non-negative integer and that the polynomial P(x)
satisfies the relation

p(2x) = 2 1(P(x) + P(x+]) ), prove that

pOx) = 3 Lp) ¢ R(x+d) ¢ PxeD) ) .



